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RRB ALP CBT -1
Answers with Explanation–4

1. (A) Wise

2. (B) 3. (D)
4. (B)Q > S > P > T > U > R

5. (B) K O P T

A E F J

–10 –10 –10 –10

Similarly, 

Q U V Z

G K L P

–10 –10 –10 –10

6. (A) 7. (A) 8. (B)

9. (D) As, TEACHER VGCEJGT

+2
Similarly, CHILDREN EJKNFTGP

+2

10. (A)5  108   12   304  108

After inter-changing the signs as per given details,
5 ×108 ÷ 12 + 304 – 108
= 45 + 304 – 108
= 241.

11. (D)As, C E H S V X:

opposite alphabets

Similarly, K M P K N P:

opposite alphabets
12. (C)32 – 4 × 29 + 13 ÷ 12

After interchanging signs as per given details.
32 ÷ 4 × 29 + 13 – 12
 8 × 29 + 1 = 233

13. (A)Required ratio = 
32

26
  

16

13
14. (B)
15. (B)Except '257', others are one less than the per-

fect square of natural number
16. (A)Required mean =

41 + 39 + 52 + 48 + 54 + 62 + 46 + 52 + 40 + 42 + 96 + 40 + 98 + 60 + 52

15
= 54.8

17. (C) Ajay Rohit

Harsh Ritu

Anita
\ Ajay is Grandfather of Anita.

18. (C) 13, 14, 18, 27, , 68, 10443

1       4      9   16     25     36

(1)
2       

(2) (3) (4) (5) (6)
2      2   2       2         2

19. (C) As 'Forward' is an antonym of 'Backward'.
'Anger' is the synonym of 'Wrath', thus does
not have the similar relationship.

20. (A)

Teacher Student

Society

21. (C) 3
5

5
7

2
4

4
3

1
1

3











= 5 – 
3

5
7 3

10
 

 = 
49

11

22. (D) a = 
1

6a 

 a – 6 = 
1

a
   a – 

1

a
= 6

Now, a2 + 2

1

a
 = 36 + 2 = 38

and, 

2
1

a
a

 
   = 40

 a + 
1

a
= 2 10

So, a3 + 3

1

a
 = (2 10 )3 – 3 ×2 10

        = 80 10  – 6 10  = 74 10
23. (A) A.T.Q.,

1

x
:
1

y
:
1

z
 = 5 : 6 : 8

 x : y : z =
1

5
:
1

6
:
1

8
 x : y : z = 24 : 20 : 15

24. (D) Total distance covered = 50 × 
1

5
2

  = 275 km

New speed = (50 + 5) km/h

    New time taken = 
275

55
 = 5 hrs.

  Total time saved = 
1

5 5
2

 
    = 

1

2
 hrs. or 30

min.

25. (C) x = 7 – 4 3

 x = 4 + 3 – 2 × 2 3  =  
2

2 3

 x  = 2 x
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Now, x  + 
1

x
  2 3 + 

1

2 x

 2 3  + 2 3  = 4

26. (A) y = 
4 2

4

x

x




, y = 5

 Put, y = 5

5 = 
4 2

4

x

x




  5x + 20 = 4x –2

   x = –22
27. (A) Length = 53.7m.,  Breath = 29.8 m.

Perimeter of rectangle = 2 (53.7 + 29.8) = 2(83.5)
= 167 m.
Side of square = 167/4 = 41.75m

28. (D) Take LCM of 12, 24, 48, 60, 96 = 480

Now , 10000
960
400 

480 2

 480 – 400 = 80
 Required number = 10000 + 80
 = 10080

29. (A) Required cost = 
75

10
 × 

40

10
 × 45 = Rs.1350

30. (B)
31. (C) (–7.5) × (–7.5) ÷ (–7.5 + .5)

= 56.25 ÷ (–7)
= – 8.035

32. (B) Required cost = 

3
80

4
1

6
2

 = 

343

4
13

2

 = Rs.
11

12
2 6

33. (B) Let the two numbers be x and (x + 2)
A.T.Q.,
x × (x + 2) = 783
 x2 + 2x – 783 = 0
 x2 + 29x – 27x – 783 = 0
 (x + 29) (x – 27)
   x = –29, 27
Required numbers is 27.

34. (B) Marked price = 100 × 130/100 = Rs130
Discount given = 130/100 × 90 = Rs117

 Profit percentage = 117 – 100 = Rs17%

35. (A) C.I. = 

2

P 1 1
100

r  
     

= 4200 

2
12

P 1 1
100

  
     

= 4200 
636

2500

 
   = Rs1068.48

36. (D) Avg. mark in geography

= 
68 65 69 70

4

  
 = 68

Average marks in History

= 
65 75 70 65

4

  
 = 68.75

37. (C) Required marks = (80 + 85 + 88 + 87) – (75 +
80 + 82 + 78) = 25

38. (C) Shilpa

39. (C)
sin 1 cos

1 cos sin

  


  

 
 
 

22sin 1 cos

sin 1 cos

   

  

  

2 2sin 1 cos 2cos

sin 1 cos

     

  

  
2 2cos

sin 1 cos

 

    [sin2 + cos2= 1]

 
 
 

2 1 cos

sin 1 cos

  

     
2

sin

40. (A)
1

5
5

 – 
1 5 3 1 4

3
2 6 5 10 15

   
         

= 
26

5
 – 

7 5 18 3 8

2 6 30

    
       

= 
26

5
 – 

7 5 13

2 6 30

  
   
  

= 
26

5
 – 

7 12

2 30

  
   
  

= 
26

5
 –  

7 12

2 30

 
 

 
   

26

5
 – 

105 12

30

 
 
 

= 
26

5
 – 

93

30

 
 
 

  
156 93

30


 = 

63

30
 = 

21

10

RRB ALP - 04 (ANSWER KEY)

1.  (A)

2.  (B)

3.  (D)

4.  (B)

5.  (B)

6.  (A)

7.  (A)

8.  (B)

9.  (D)

10.  (A)

11.  (D)

12.  (C)

13.  (A)

14.  (B)

15.  (B)

16.  (A)

17.  (C)

18.  (C)

19.  (C)

20.  (A)

21.  (C)

22.  (D)

23.  (A)

24.  (D)

25.  (C)

26.  (A)

27.  (A)

28.  (D)

29.  (A)

30.  (B)

31.  (C)

32.  (B)

33.  (B)

34.  (B)

35.  (A)

36.  (D)

37.  (C)

38.  (C)

39.  (C)

40.  (A)

41.  (D)

42.  (D)

43.  (B)

44.  (D)

45.  (A)

46.  (A)

47.  (D)

48.  (B)

49.  (C)

50.  (A)

51.  (B)

52.  (A)

53.  (B)

54.  (C)

55.  (D)

56.  (C)

57.  (B)

58.  (D)

59.  (C)

60.  (D)

61.  (C)

62.  (B)

63.  (D)

64.  (B)

65.  (D)

66.  (A)

67.  (B)

68.  (D)

69.  (C)

70.  (A)

71.  (D)

72.  (D)

73.  (D)

74.  (D)

75.  (D)


